Converting Between cm? and m? (A)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 v s 83 i3 %% =
B E T & 3 135 8 E E =
i : - : : > X
G M k h da: 'd ¢ m [ n
9 8 7 6 5 4 3 2 1505 2 3 4 5 6 -7 -8 9

—

. Convert 6 110 000 cm? to m?

2. Convert 76 900 cm? to m?

3. Convert 0.77 m?2 to cm?

4. Convert 5 180 000 cm? to m?

5. Convert 9600 cm? to m?>

6. Convert 6.69 m? to cm?

7. Convert 859 500 000 cm? to m?

8. Convert 0.00656 m? to cm?

9. Convert 0.404 m? to cm?

10. Convert 0.00063 m? to cm?
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Converting Between cm? and m? (A) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 v s 83 i3 %% =
B E T & 3 135 8 E E =
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1505-1 2 3 4 5 6 -7 -8 9

. Convert 6 110 000 cm? to m?

6 110 000 cm? = 100 = 100 = 611 m?
Convert 76 900 cm? to m?

76 900 cm? <+ 100 + 100 = 7.69 m?
Convert 0.77 m? to cm?

0.77 m? X 100 X 100 = 7700 cm?
Convert 5 180 000 cm? to m?
5180 000 cm? = 100 = 100 = 518 m?
Convert 9600 cm? to m?

9600 cm? = 100 <+ 100 = 0.96 m?
Convert 6.69 m? to cm?

6.69 m? x 100 X 100 = 66 900 cm?
Convert 859 500 000 cm? to m?
859 500 000 cm? = 100 <+ 100 = 85 950 m?
Convert 0.00656 m? to cm?
0.00656 m? X 100 X 100 = 65.6 cm?
Convert 0.404 m? to cm?

0.404 m? x 100 X 100 = 4040 cm?
Convert 0.00063 m? to cm?
0.00063 m? x 100 X 100 = 6.3 cm?
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Converting Between cm? and m? (B)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 v s 83 i3 %% =
B E T & 3 135 8 E E =
i : - : : > X
G M k h da: 'd ¢ m [ n
9 8 7 6 5 4 3 2 1505 2 3 4 5 6 -7 -8 9

—

. Convert 0.8082 m? to cm?

2. Convert 0.032 m? to cm?

3. Convert 0.0048 m?2 to cm?

4. Convert 1 180 000 cm? to m?

5. Convert 5600 cm? to m?>

6. Convert 0.00881 m?2 to cm?

7. Convert 781 000 000 cm? to m?

8. Convert 54 000 000 cm? to m?

9. Convert 0.062 m? to cm?

10. Convert 42 000 cm? to m?
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Converting Between cm? and m? (B) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 v s 83 i3 %% =
B E T & 3 135 8 E E =
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 15 E-l 2 3 4 5 6 -7 -8 9

o

. Convert 0.8082 m? to cm?

0.8082 m? X 100 X 100 = 8082 cm?
Convert 0.032 m? to cm?
0.032m? x 100 X 100 = 320 cm?
Convert 0.0048 m? to cm?
0.0048 m? x 100 X 100 = 48 cm?

. Convert 1 180 000 cm? to m?

1180 000cm? = 100 = 100 = 118 m?

. Convert 5600 cm? to m?

5600 cm? = 100 = 100 = 0.56 m?>

. Convert 0.00881 m?2 to cm?

0.00881 m? x 100 x 100 = 88.1 cm?

. Convert 781 000 000 cm? to m?>

781 000 000 cm? = 100 = 100 = 78 100 m?

. Convert 54 000 000 cm? to m?

54 000 000 cm? = 100 = 100 = 5400 m?

. Convert 0.062 m? to cm?

0.062m?2 X 100 X 100 = 620 cm?

Convert 42 000 cm? to m?
42 000 cm? = 100 =~ 100 = 4.2 m?
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Converting Between cm? and m? (C)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 v s 83 i3 %% =
B E T & 3 135 8 E E =
i : - : : > X
G M k h da: 'd ¢ m [ n
9 8 7 6 5 4 3 2 1505 2 3 4 5 6 -7 -8 9

—

. Convert 89.75 m? to cm?

2. Convert 7900 cm? to m?

3. Convert 0.0408 m?2 to cm?

4. Convert 0.00044 m? to cm?

5. Convert 160 000 cm? to m?

6. Convert 0.000155 m? to cm?

7. Convert 64 000 cm? to m?

8. Convert 8 415 000 000 cm? to m?

9. Convert 384 000 cm? to m?

10. Convert 0.388 m?2 to cm?
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Converting Between cm? and m? (C) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 v s 83 i3 %% =
B E T 2 35 13 8 E E =
: : - : : —» X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 15 E-l 2 3 4 5 6 -7 -8 9

o

. Convert 89.75 m? to cm?

89.75m? x 100 X 100 = 897 500 cm?
Convert 7900 cm? to m?

7900 cm? = 100 = 100 = 0.79 m?
Convert 0.0408 m? to cm?

0.0408 m? x 100 X 100 = 408 cm?
Convert 0.00044 m? to cm?
0.00044 m? x 100 X 100 = 4.4 cm?
Convert 160 000 cm? to m?

160 000 cm? <+ 100 =~ 100 = 16 m?
Convert 0.000155 m? to cm?
0.000155 m? X 100 X 100 = 1.55 cm?
Convert 64 000 cm? to m?

64 000 cm? + 100 =~ 100 = 6.4 m?
Convert 8 415 000 000 cm? to m?
8 415 000 000 cm? = 100 = 100 = 841 500 m?
Convert 384 000 cm? to m?

384 000 cm? <+ 100 + 100 = 38.4 m?
Convert 0.388 m? to cm?

0.388 m?2 x 100 X 100 = 3880 cm?

Math-Drills.com




Converting Between cm? and m? (D)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 v s 83 i3 %% =
B E T & 3 135 8 E E =
i : - : : > X
G M k h da: 'd ¢ m [ n
9 8 7 6 5 4 3 2 1505 2 3 4 5 6 -7 -8 9

—

. Convert 5.173 m? to cm?

2. Convert 49 000 cm? to m?

3. Convert 0.000065 m? to cm?

4. Convert 915 300 000 cm? to m?

5. Convert 2200 cm? to m?2

6. Convert 6 189 000 000 cm? to m?

7. Convert 440 000 cm? to m?

8. Convert 0.000202 m? to cm?

9. Convert 0.000049 m? to cm?

10. Convert 0.0025 m? to cm?
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Converting Between cm? and m? (D) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 v s 83 i3 %% =
B E T & 3 135 8 E E =
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1505-1 2 3 4 5 6 -7 -8 9

. Convert 5.173 m? to cm?

5.173m? X 100 X 100 = 51 730 cm?
Convert 49 000 cm? to m?

49 000 cm? = 100 = 100 = 4.9 m?
Convert 0.000065 m? to cm?

0.000065 m? X 100 X 100 = 0.65 cm?
Convert 915 300 000 cm? to m?

915 300 000 cm? = 100 <+ 100 = 91 530 m?
Convert 2200 cm? to m?

2200 cm? = 100 <+ 100 = 0.22 m?
Convert 6 189 000 000 cm? to m?

6 189 000 000 cm? =+ 100 = 100 = 618 900 m?
Convert 440 000 cm? to m?

440 000 cm? = 100 = 100 = 44 m?
Convert 0.000202 m? to cm?

0.000202 m? X 100 X 100 = 2.02 cm?
Convert 0.000049 m? to cm?

0.000049 m? x 100 X 100 = 0.49 cm?
Convert 0.0025 m? to cm?

0.0025m? X 100 X 100 = 25 cm?
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Converting Between cm? and m? (E)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 v s 83 i3 %% =
B E T 2 35 13 8 E E =
i : - : : > X
G M k h da: 'd ¢ m [ n
9 8 7 6 5 4 3 2 1505 2 3 4 5 6 -7 -8 9

—

. Convert 5.02m?2 to cm?

2. Convert 9 110 000 cm? to m?

3. Convert 224 000 000 cm? to m?

4. Convert 4.82 m? to cm?

5. Convert 0.2538 m?2 to cm?

6. Convert 17 330 000 cm? to m?

7. Convert 31 090 000 cm? to m?

8. Convert 664 000 000 cm? to m?

9. Convert 0.000716 m? to cm?

10. Convert 0.000223 m? to cm?

Math-Drills.com




Converting Between cm? and m? (E) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 v s 83 i3 %% =
B E T & 3 135 8 E E =
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1505-1 2 3 4 5 6 -7 -8 9

. Convert 5.02m?2 to cm?

5.02m? X 100 X 100 = 50 200 cm?
Convert 9 110 000 cm? to m?

9110 000 cm? = 100 <+ 100 = 911 m?
Convert 224 000 000 cm? to m?

224 000 000 cm? < 100 = 100 = 22 400 m?
Convert 4.82 m? to cm?

4.82m? x 100 X 100 = 48 200 cm?
Convert 0.2538 m? to cm?

0.2538 m? X 100 X 100 = 2538 cm?
Convert 17 330 000 cm? to m?

17 330 000 cm? = 100 = 100 = 1733 m?
Convert 31 090 000 cm? to m?

31 090 000 cm? = 100 = 100 = 3109 m?
Convert 664 000 000 cm? to m?

664 000 000 cm? = 100 <+ 100 = 66 400 m?
Convert 0.000716 m? to cm?

0.000716 m? X 100 X 100 = 7.16 cm?
Convert 0.000223 m? to cm?

0.000223 m? X 100 X 100 = 2.23 cm?
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Converting Between cm? and m? (F)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 v s 83 i3 %% =
B E T & 3 135 8 E E =
i : - : : > X
G M k h da: 'd ¢ m [ n
9 8 7 6 5 4 3 2 1505 2 3 4 5 6 -7 -8 9

—

. Convert 16 800 cm? to m?

2. Convert 7700 cm? to m?

3. Convert 0.09489 m? to cm?

4. Convert 0.045 m? to cm?

5. Convert 0.0062 m?2 to cm?

6. Convert 5 900 000 cm? to m?

7. Convert 0.0086 m? to cm?

8. Convert 3 742 000 000 cm? to m?

9. Convert 0.000016 m? to cm?

10. Convert 243 800 000 cm? to m?
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Converting Between cm? and m? (F) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
o] o : : — - e
5 b 2 5 §: i1g E E 3 £
"Bh S Z =2 =i +o 8 E £ =
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0:-1 2 3 4 -5 -6 -7 -8 9
. Convert 16 800 cm? to m?

16 800 cm? < 100 <+ 100 = 1.68 m?
Convert 7700 cm? to m?

7700 cm? = 100 = 100 = 0.77 m?
Convert 0.09489 m? to cm?

0.09489 m? X 100 X 100 = 948.9 cm?
Convert 0.045 m? to cm?

0.045 m? X 100 X 100 = 450 cm?
Convert 0.0062 m? to cm?

0.0062 m? x 100 X 100 = 62 cm?
Convert 5 900 000 cm? to m?

5900 000 cm? = 100 = 100 = 590 m?
Convert 0.0086 m? to cm?

0.0086 m? X 100 X 100 = 86 cm?
Convert 3 742 000 000 cm? to m?

3 742 000 000 cm? <+ 100 = 100 = 374 200 m?
Convert 0.000016 m? to cm?

0.000016 m? X 100 X 100 = 0.16 cm?
Convert 243 800 000 cm? to m?

243 800 000 cm? < 100 <+ 100 = 24 380 m?
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Converting Between cm? and m? (G)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 v s 83 i3 %% =
D g T 2 S: 15 8 E g g
— < : - : : > X
G M k h da: 'd ¢ m [ n
9 8 7 6 5 4 3 2 1505 2 3 4 5 -6 -7 -8 -9

—

. Convert 92 800 000 cm? to m?

2. Convert 3 483 000 000 cm? to m?>

3. Convert 43 300 cm? to m?

4. Convert 9.495m? to cm?

5. Convert 0.245 m? to cm?

6. Convert 0.0534 m? to cm?

7. Convert 4 701 000 000 cm? to m?

8. Convert 9.277 m? to cm?

9. Convert 169 000 cm? to m?

10. Convert 0.09441 m? to cm?
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Converting Between cm? and m? (G) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 v s 83 i3 %% =
& E T 2 5 135 8 E E Z
: : - : : —» X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 1505-1 2 3 4 5 6 -7 -8 9

. Convert 92 800 000 cm? to m?

92 800 000 cm? = 100 + 100 = 9280 m?
Convert 3 483 000 000 cm? to m?

3 483 000 000 cm? + 100 = 100 = 348 300 m?
Convert 43 300 cm? to m?

43 300 cm? = 100 = 100 = 4.33 m?

Convert 9.495 m? to cm?

9.495 m? x 100 X 100 = 94 950 cm?
Convert 0.245 m? to cm?

0.245m? X 100 X 100 = 2450 cm?

Convert 0.0534 m? to cm?

0.0534 m? x 100 X 100 = 534 cm?

Convert 4 701 000 000 cm? to m?

4701 000 000 cm? = 100 = 100 = 470 100 m?
Convert 9.277 m? to cm?

9.277 m? X 100 X 100 = 92 770 cm?
Convert 169 000 cm? to m?

169 000 cm? < 100 + 100 = 16.9 m?
Convert 0.09441 m? to cm?

0.09441 m? X 100 X 100 = 944.1 cm?
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Converting Between cm? and m? (H)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 v s 83 i3 %% =
B E T 2 35 13 8 E E =
i : - : : > X
G M k h da: 'd ¢ m [ n
9 8 7 6 5 4 3 2 1505 2 3 4 5 6 -7 -8 9

—

. Convert 7 790 000 cm? to m?

2. Convert 72 000 cm? to m?

3. Convert 0.000951 m? to cm?

4. Convert 6.06 m? to cm?

5. Convert 0.003147 m? to cm?

6. Convert 0.00386 m?2 to cm?

7. Convert 0.000093 m? to cm?

8. Convert 55 400 cm? to m?

9. Convert 24 900 000 cm? to m?

10. Convert 28 410 000 cm? to m?
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Converting Between cm? and m? (H) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 v s 83 i3 %% =
B E T & 3 135 8 E E =
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 15 E-l 2 3 4 5 6 -7 -8 9

o

. Convert 7 790 000 cm? to m?

7 790 000 cm? = 100 = 100 = 779 m?
Convert 72 000 cm? to m?

72 000 cm? + 100 =~ 100 = 7.2 m?
Convert 0.000951 m? to cm?
0.000951 m? X 100 X 100 = 9.51 cm?
Convert 6.06 m? to cm?

6.06 m? x 100 X 100 = 60 600 cm?
Convert 0.003147 m? to cm?
0.003147 m? X 100 X 100 = 31.47 cm?
Convert 0.00386 m? to cm?

0.00386 m? X 100 X 100 = 38.6 cm?
Convert 0.000093 m? to cm?
0.000093 m? X 100 X 100 = 0.93 cm?
Convert 55 400 cm? to m?

55 400 cm? = 100 + 100 = 5.54 m?
Convert 24 900 000 cm? to m?

24 900 000 cm? = 100 + 100 = 2490 m?
Convert 28 410 000 cm? to m?

28 410 000 cm? = 100 + 100 = 2841 m?
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Converting Between cm? and m? (I)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 v s 83 i3 %% =
B E T & 3 135 8 E E =
i : - : : > X
G M k h da: 'd ¢ m [ n
9 8 7 6 5 4 3 2 1505 2 3 4 5 6 -7 -8 9

—

. Convert 333 100 cm? to m?

2. Convert 615 000 000 cm? to m?

3. Convert 9 100 000 cm? to m?

4. Convert 93 000 000 cm? to m?

5. Convert 94 000 cm? to m?

6. Convert 0.000057 m? to cm?

7. Convert 0.000065 m? to cm?

8. Convert 0.000047 m? to cm?

9. Convert 3.26 m? to cm?

10. Convert 91.04 m?2 to cm?
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Converting Between cm? and m? (I) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 v s 83 i3 %% =
B E T & 3 135 8 E E =
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1505-1 2 3 4 5 6 -7 -8 9

. Convert 333 100 cm? to m?

333 100 cm? <+ 100 = 100 = 33.31 m?
Convert 615 000 000 cm? to m?
615 000 000 cm? = 100 <+ 100 = 61 500 m?
Convert 9 100 000 cm? to m?

9 100 000 cm? = 100 <+ 100 = 910 m?
Convert 93 000 000 cm? to m?

93 000 000 cm? = 100 <+ 100 = 9300 m?
Convert 94 000 cm? to m?

94 000 cm? + 100 = 100 = 9.4 m?
Convert 0.000057 m? to cm?
0.000057 m? X 100 X 100 = 0.57 cm?
Convert 0.000065 m? to cm?
0.000065 m? X 100 X 100 = 0.65 cm?
Convert 0.000047 m? to cm?
0.000047 m? X 100 X 100 = 0.47 cm?
Convert 3.26 m? to cm?

3.26 m? X 100 X 100 = 32 600 cm?
Convert 91.04 m? to cm?

91.04 m? X 100 X 100 = 910 400 cm?
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Converting Between cm? and m? (J)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 v s 83 i3 %% =
B E T 2 35 13 8 E E =
i : - : : > X
G M k h da: 'd ¢ m [ n
9 8 7 6 5 4 3 2 1505 2 3 4 5 6 -7 -8 9

—

. Convert 0.0836 m? to cm?

2. Convert 0.0433 m? to cm?

3. Convert 82 030 000 cm? to m?

4. Convert 0.063 m? to cm?

5. Convert 99 730 000 cm? to m?

6. Convert 5 730 000 cm? to m?

7. Convert 82 100 cm? to m?

8. Convert 35.88 m? to cm?

9. Convert 0.06373 m?2 to cm?

10. Convert 710 000 cm? to m?
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Converting Between cm? and m? (J) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
< o . ! — o
5 b 2 5 §i 13 § = 3 £
"Bh S Z =2 =i +o 8 E £ =
: : e : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0:-1 2 3 4 -5 -6 -7 -8 9
. Convert 0.0836 m? to cm?

0.0836 m? X 100 X 100 = 836 cm?
Convert 0.0433 m? to cm?

0.0433 m? X 100 X 100 = 433 cm?
Convert 82 030 000 cm? to m?

82 030 000 cm? = 100 = 100 = 8203 m?
Convert 0.063 m? to cm?

0.063 m? X 100 X 100 = 630 cm?
Convert 99 730 000 cm? to m?

99 730 000 cm? = 100 <+ 100 = 9973 m?
Convert 5 730 000 cm? to m?

5730 000 cm? = 100 = 100 = 573 m?
Convert 82 100 cm? to m?

82 100 cm? <+ 100 + 100 = 8.21 m?
Convert 35.88 m? to cm?

35.88m? X 100 X 100 = 358 800 cm?
Convert 0.06373 m? to cm?
0.06373 m? X 100 X 100 = 637.3 cm?
Convert 710 000 cm? to m?

710 000 cm? + 100 = 100 = 71 m?
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